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Here are the five economic stories
which have caught our eye this
week:

Carney’s Brexit Prophecy:

The Governor of the Bank of England Mark Carney, has been airing
his thoughts in relation to the draft Brexit deal that Theresa May
announced last week.

The deal (as things stand!) outlined the technical details behind the
withdrawal agreement with the European Union, including the
structure of the financial settlement, the future of UK and EU
citizens' rights and the proposed solution to the Irish border
question.

Rather than get involved in the messy politics of the deal, the
Governor decided to focus his comments on the transition period
that is due to begin a second after 11pm on the 29t of March 2019
(again — as it stands!).

The idea behind this transition deal is that will provide a window of
needed certainty for businesses before the new future trading
arrangement between the UK and the EU comes into play at the
beginning of 2021.

Carney’s comments back the notion of an extended transition
agreement until 2022 and claimed that the “economic return of a
longer transition period will outweigh the economic cost”.

However, the most interesting part of his comments came when he
discussed the preparations the Bank of England are making when it
comes to a “no-deal” Brexit. He raised the point that Bank would
stand ready to INCREASE interest rates in the case of the UK crashing
out of the EU without a deal. Many would see that as an unlikely
position for the Bank to take with economy already stifled with
uncertainty from no deal.

Explain two reasons why a no-deal Brexit could result in significant
inflationary pressures in the UK economy.

Discuss whether a no-deal Brexit is more likely to create a supply side
shock rather than a demand shock.

With reference to your previous answers and an AD-AS diagram,
assess the impact a rate rise would have on the UK economy
following a no-deal Brexit.
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Global Remittances System:

UNESCO produced a report this week that detailed the impact
that migrant and refugee flows have had on educational
standards across communities in the world.

It is important to understand that migration patterns have both a
direct and indirect impact on educational standards in a country.
This is because migrants often send a percentage of their money
earned back to their home country (officially defined as
remittance payments). This cash provides an educational lifeline
for children in poorer countries whose families cannot afford to
keep their children in school for the entire duration of primary
and secondary education.

The correlation between the value of remittances received and
the spending levels on education in a country are clear for all to
see. Families that received a basic level of remittance income in
India spent on average 17% more on education for their children
compared to families who did not receive those equivalent
payments.

Last year migrant workers in the UK sent back £8bn to support
their families in their home countries. However, there are
concerns that financial firms are “cashing-in” on this growing
trend and charging transaction fees as high as 20%. The report
argues that high transfer fees are crowding out money for crucial
educational spending.

Discuss why remittances are sometimes defined by economists
as “informal subsidies” from developed to developing countries.

Use an AD/AS diagram to explain the likely impact of increased
spending on education within developing economies.
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Measuring Poverty in the UK:

A report released by the Social Metrics Commission (SMC)
evaluated the current ways in which poverty is measured in the
UK and put forward a credible alternative in which poverty can

be measured.

The SMC is an independent commission set up to develop new
ways in which poverty can be measured across the UK, in order
to assist government policy-making on this matter.

The Commission put an emphasis not just on measuring
poverty but establishing what are the driving factors behind
poverty in the economy. This is recognised by understanding

the extent of poverty in the UK across households, the
persistence of poverty across generations of families and the
experiences of those that have lived in poverty in the past.

The marked difference between the SMC’s poverty measure
and some of the more conventional poverty measures
(absolute and relative poverty) is that the commission propose
comparing the total resources available to a household against
a poverty line of 55%.

Net Income

— Total

— Available (TRA)

Personal Costs

The poverty line is determined by a measure of material needs
across the population. This might sound confusing, but
essentially this is an average of the total resources available to
each class of household in the UK i.e. single adults, pensioners,
single parents and couples.

The idea is that if a household’s total resources available fall
below 55% of the median level of household needs then the
household is defined as living in poverty.

It is estimated that if this measure was applied to the UK, 14.2
million people would be defined as living in poverty.

Future Role of the WTO:
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Another week and another tetchy exchange between the two
economic power players of the global economy — the US and
China.

This feud has rumbled on since 2016 and has resulted in a series
of tit-for-tat tariff measures which covers $250bn of Chinese
imports into the US. The rationale behind these measures move
in line with the belief that China persistently operates “unfairly”
when it comes to trade. The accusations range from deliberate
currency manipulation to theft of intellectual property from US
firms.

This week, the US administration boldly claimed that China
should be “evicted” from the WTO due to its constant rule-
breaking on the global stage. The organisation, which represents
164 countries, was set up in 1995 to help liberalise world trade
and reduce trade barriers and frictions between member states.

Explain how and why this approach to measuring poverty is
different from the traditional measures of absolute and relative
poverty in the UK.

To what extent do you believe that free trade is mutually
beneficial for an economy and its citizens.

Discuss the impact that China’s removal from the WTO could
theoretically have on the global economy.

The Results Are In:
UK SUGAR TAX

457 Producers Registered

This week the UK government released its first update in
relation to the effectiveness of a sugar tax applied to soft drink
manufacturers back in April 2018.

The tax was introduced to encourage individuals to switch their
expenditure away from sugary drinks towards healthier
alternatives. However, it has also forced many companies to re-
formulate their recipes to reduce the sugar content in these
drinks.

The level of the tax applied depends on the sugar levels
contained in each drink. A lower tax rate of 18p per litre is
applied to those drinks that contain between 5 and 8 grams of
sugar per litre. A higher tax rate is applied to those drinks that
contain over 8 grams per litre.

The headline figure was that £153.8m has been raised in tax
revenue since April with projections that this will rise to £240m
across the full year. Sounds promising? Well originally the
Treasury forecast that the introduction of this tax would raise
£500m in its first year.

It would seem at first glance that the decision for firms to re-
formulate will benefit the health of the UK population, but will
not result in the tax receipts the government predict.

What form of tax does this sugar tax represent?

With the aid of an appropriate diagram, illustrate the effects of
the imposition of the sugar tax on the sugary drinks market.
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